

$$\textcircled{1} \int \frac{x \cos x}{\sin^3 x} dx = x \cos x + \frac{1}{2} \int \frac{dx}{\sin^2 x} = x \cos x + \frac{1}{2} \cot x + C$$

$$u = x \Rightarrow du = dx$$

$$v = \int \frac{\cos x dx}{\sin^2 x} = \int t^{-2} dt = -\frac{1}{2} \frac{1}{\sin x}$$

$$\sin x = t \Rightarrow \cos x dx = dt$$

$$\textcircled{2} \int \frac{x \cos x}{\sin^2 x} dx = -\frac{x}{\sin x} + \int \frac{dx}{\sin x} = -\frac{x}{\sin x} + \ln \left| \tan \frac{x}{2} \right| + C$$

$$v = \int t^{-1} dt = -\frac{1}{\sin x}$$

$$u = x$$

$$\textcircled{3} \int x \arctan x dx \left(\begin{array}{l} u = \arctan x \\ v = \frac{x^2}{2} \end{array} \right) = \frac{x^2+1}{2} \arctan x - \frac{x}{2} + C$$

$$\textcircled{4} \int x \arcsin x dx \left(\begin{array}{l} u = \arcsin x \Rightarrow du = \frac{dx}{\sqrt{1-x^2}} \\ v = \frac{x^2}{2} \end{array} \right) = \frac{x^2}{2} \arcsin x - \frac{1}{2} \int \frac{x^2}{\sqrt{1-x^2}} dx$$

$$I_1 = \int \frac{x^2}{\sqrt{1-x^2}} dx = \left(\begin{array}{l} u = x \Rightarrow du = dx \\ v = \int \frac{x dx}{\sqrt{1-x^2}} = -\sqrt{1-x^2} \end{array} \right) = -x\sqrt{1-x^2} + \int \sqrt{1-x^2} dx$$

$$I_2 = \int \sqrt{1-x^2} dx = \left(\begin{array}{l} x = \sin t \\ dx = \cos t dt \end{array} \right) = \int \cos^2 t dt = \int \frac{1 + \cos 2t}{2} dt =$$

$$= \frac{1}{2} \left(t + \frac{1}{2} \sin 2t \right) = \frac{1}{2} \left(\arcsin x + \frac{1}{2} \cdot 2 \sin t \cdot \cos t \right) =$$

$$= \frac{1}{2} \left(\arcsin x + x \sqrt{1-x^2} \right)$$

$$I = \frac{x^2}{2} \arcsin x - \frac{1}{2} \left(-x\sqrt{1-x^2} + \frac{1}{2} \arcsin x + \frac{x}{2} \sqrt{1-x^2} \right) + C =$$

$$= \frac{x^2}{2} \arcsin x + \frac{1}{4} x \sqrt{1-x^2} - \frac{1}{4} \arcsin x + C = \frac{1}{4} (2x^2 - 1) \arcsin x + \frac{1}{4} x \sqrt{1-x^2} + C$$

$$5) \int \frac{\ln x}{x^3} dx = -\frac{\ln x}{2x^2} + \frac{1}{2} \int x^{-3} dx = -\frac{\ln x}{2x^2} + \frac{1}{2} \cdot \frac{x^{-2}}{-2} + C =$$

$$\left(\begin{array}{l} u = \ln x \Rightarrow du = \frac{1}{x} dx \\ v = \int x^{-3} dx = -\frac{1}{2x^2} \end{array} \right) = -\frac{1}{2x^2} \left(\ln x + \frac{1}{2} \right) + C = -\frac{1}{4x^2} (\ln x^2 + 1) + C$$

$$6) \int \ln^2 x dx = x \ln^2 x - 2 \int \ln x dx \stackrel{PPT}{=} x \ln^2 x - 2(x \ln x - x) + C$$

$$\left(\begin{array}{l} u = \ln^2 x \Rightarrow du = 2 \ln x \cdot \frac{1}{x} dx \\ v = x \end{array} \right) = x(\ln^2 x - 2 \ln x + 2) + C$$

$$7) \int x^3 e^{ax} dx = \frac{x^3 e^{ax}}{a} - \frac{3}{a} \int x^2 e^{ax} dx = \text{TRU YDA CTOMUE}$$

$$\left(\begin{array}{l} u = x^3 \Rightarrow du = 3x^2 dx \\ v = \frac{1}{a} e^{ax} \end{array} \right) \quad \text{НАПУ ВЪТЪМЕ УИТЕГРАЛУ СЪС ДЪЛЪ:$$

$$= \frac{e^{ax}}{a} \left(x^3 - \frac{3x^2}{a} + \frac{6x}{a^2} - \frac{6}{a^3} \right) + C$$

$$8) I = \int \sqrt{x^2 - a^2} dx = x\sqrt{x^2 - a^2} - \int \frac{x^2 dx}{\sqrt{x^2 - a^2}} = x\sqrt{x^2 - a^2} - \int \frac{x^2 - a^2 + a^2}{\sqrt{x^2 - a^2}} dx =$$

$$\left(\begin{array}{l} u = \sqrt{x^2 - a^2} \Rightarrow du = \frac{x dx}{\sqrt{x^2 - a^2}} \\ v = x \end{array} \right) = x\sqrt{x^2 - a^2} - \int \sqrt{x^2 - a^2} dx - a^2 \int \frac{dx}{\sqrt{x^2 - a^2}} =$$

$$(*) \int \frac{dx}{\sqrt{x^2 - a^2}} = \int \frac{2t}{t^2 - a^2} \cdot \frac{t^2 - a^2}{2t^2} dt = \int \frac{dt}{t} = \ln|t| + C = \ln|x + \sqrt{x^2 - a^2}|$$

$$\left(\begin{array}{l} \text{метод: } \sqrt{x^2 - a^2} = t - x \Rightarrow x^2 - a^2 = t^2 - 2tx + x^2; \quad x = \frac{a^2 + t^2}{2t} \\ dx = \frac{2t^2 - a^2}{2t^2} dt; \quad dx = \frac{t^2 - a^2}{2t^2} dt; \quad t - x = \frac{t^2 - a^2}{2t} \end{array} \right)$$

Знае:

$$2I = x\sqrt{x^2 - a^2} - a^2 \ln|x + \sqrt{x^2 - a^2}|$$

$$I = \frac{1}{2} (x\sqrt{x^2 - a^2} - a^2 \ln|x + \sqrt{x^2 - a^2}|) + C$$